MEMORIAL UNIVERSITY OF NEWFOUNDLAND
DEPARTMENT OF MATHEMATICS AND STATISTICS

SECTION 2.3 Math 1090 Worksheet FaLL 2009

For practise only. Not to be submitted.

. Simplify the expression 6v/20 — 5v/45.

. Rationalise the denominator and simplify each expression.
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. Factor each of the following, if possible.

4922 — 16

22 —Tx+6
22 —5x+6
22+ 51 — 24
42% + 18z + 8
922 — 30z + 25
1222 — 2 — 6
4 + 19z — 522
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. Solve each of the following equations.

(a) 922 —16=0

(b) 4z(7 —x) =49

(c) 1—222—4x =0

. For each of the following expressions, complete the square.
(a) 2*+6z+38

(b) 32% — 3z +2

(c) 17 —5x? — 40z

. Sketch the graph of each of the following without constructing a table of values. Label all
important points. Identify the range of the function in each case.

(a) flz)=322+1
(b) f(z)=—2*+ 4z —3
(c) y=42*—4x—3



